AMATEUR BAND TRANSMITTER KIT

MODEL NO. 153-03

oW ﬁnNSM\ﬂER

NEW ADDRESS
KELVIN ELECTRONICS
TFARCHID AVE. |
PLAINVIEW, N.Y. 11803
16} 040-7620 \ (800) £45-90R

[ ]
“elvin electromnics imc.

1800 NEW HIGHWAY s FARMINGDALEeMN.Y, 1735 ¢ 5168-2439-4646



GENERAL DESCRIPTION

The Amateur Band Transmitter (Stock No. 153-03) is a crystal controlled
C.W. (Continuous Wave~Telegraphy) 50 watt transmitter kit operating on
both the 80 and 40 meter "ham" bands. A crystal oscillator/amplifier
stage and a final output stage combining with plug-in coil make this
an excellent transmitter kit for the beginner or Novice operator. Both
mechanical and electrical construction is made simple by the use of a
full-size chassis drilling template, stage-by-stage wiring pictorials
and schematic diagram.

The amplifier tank circuit 1s a pi-network designed to work into a wide
range of antenna impedances. A single ccil is used for both bands by
simply switching the band selector switch on the front panel. The crystal
and the pi-network coll i1s simultaneously switched when the band switch is
changed on the front panel. For this reason, the proper crvstal for each
band must be in its proper socket for the transmitter to operate. For
maximum performance, the "Tune"and "Load" adjust on the front panel must
be tuned each time the band switch is changed. A meter 1is incorporated to
permit visual indication of maximum R.F. output. Tune-up and operation

of this transmitter is as any other transmitter. Refer to the Radio
Amateur's Handbook or any other publication on the subject.

80 and 40 Meter crystals are used; 80 Meter crystals for 80 Meter coperation

(3.5-4.0 MC) and 40 Meter crystals for operation on 40 Meters (7.0-7.3 MC).

Crystals used should be of the popular FT-243 type. Both stages are "keyed"
simultaneously to provide for "break-in" keying.

e i

CAUTION

Use extreme care during initial testing
and all subsequent operation of this
Transmitter. While the Transmitter is
designed for maximum safety, never lose
respect for the high voltage present 1in
this unit. Always protect yourself a-
cainst lethal or severe electric shock.

NOTE: An amateur radio operator and station
license is required to place this Transmitter
on the air. Information regarding licensing
and amateur frequency allocation may be
obtained from publications o0f the Federal
Communications Commission, or from the
American Radio Relay League in the U,5.4A.



- O
[ I N WS N N Fg ot b et e B Fg

Fj
- et

PARTS LIST

OV O s
]

Model No, 153-03
Resistors Qty. Misc.
10 ohm % W 1 9 Pin Tube Socket
68 ohm % W 3 Octal Sockets
100 ohm 1 W 1 Mater
470 ohm 1 W 4 4 Pi-coil
22K ohm 2 W 1 Neon Lamp
33 ohm % W 1 Power Transformer
27 ohm ¥ W 1 Line Cord
47K ohm % W 2 Silicon Diodes
68K ohm % W 2 Variable Condensers
270K " kW 1 Coil Form 8 Pins
1 Toggle Switch SPST
Capacitors 1 Toggle Switch SPDT
1 Rotary Switch 3P2Pos
24 Pf 1 RKey Jack -
180 Pf 1 Rubber Grommet
001 mfd 1 Antenna Output Jack
.01 mfd 1 Instruction Sheet
.01 mfd 1KV 1 Chassis Template
10 mfd 450V 1 Knob Small
40 mfd 450V 2 Knob Large
2 Hook Up Wires.
Tubes 2 Enameled Wire
1 Sleeving
12BY7 1 Solder
eL6
HARDWARE
Qty.
#4-40 x %" Screw 1 Terminal Strip GL
#4-40 x 3/16" Nut 1 Terminal Strip LLGLL
Tinnerman Clip 3 Terminal Strip LGLL
$#6-32 x &".Screw 1 Aluminum Chassis 10 x 5 x 2
#6 Lock Washer 1 Front Panel

3/8-32 Nut



Mechanical

Unless otherwise stated, all components are mounted with
4-40 screws (1/4" long) and 4-40 x 3/16" nuts supplied.

1. Drill all holes in the aluminum chassis and front panel
according to the instructions given on the "Chassis
Drilling Template." (Center page).

2. Mount all sockets as shown in Pictorial 1 and Pictorial 2.
Be sure the key on the sockets are positioned as shown
in Pictorial 1.

3. Mount the two variables with #6-32 x 1/4" screws. Use a
lock washer on each screw. Refer to Pictorial 5.

4. Mount all other components shown on the chassis and
front panel.

Notes on Wiring

Each kit is supplied with more than enough hookup wire for
complete wiring. A length of insulated hookup wire, unless
otherwlise specified, should have about 1/4" of insulation re-
moved or "stripped" from each end. Excessive wire exposure
increases the possibility of shorts to nearby wiring or terminals,

When connecting to the terminal lug, simply wrap or "crimp" the

lead to the terminal. Solder the terminal when you see a solder
designation (S) followed with a number specifying the amount of

wires that should be soldered. The designation (S2) means that

two wires should be scldered on the terminal. If the terminal does
not have the specified number of wires, recheck your wiring to that
terminal. We suggest when each wire or component is connected to the .
kit, color the wire or component in the pictorial with a colored
pencil. This will keep track of what you have done.

Wire the kit as shown in each pictorial. When the wiring is completed
for that stage, check your work for shorts and miswiring. If
everything is correct, follow the instructions in the pictorial. Then
go on to the next pictorial. Be sure to remove the line cord from

the house current before resuming work on the set.

Note: Because of the frequencies involved with the transmitter, all
wires must be made as short as possible,



A FEW DONTS
B

Dot use acid eare solder - It will ruin your kik.
Use ealy rediz cors soclder.

Bon't solder unlesd you Bave double cheack your tions .

bon't solder on transistor or dicde without usisng & Beat wink,
Excess heat will destrey the component. A long noss plier
ar lip I8 & goed hest sink

Bon®t solder & diods oF electrolytic capacitor withowe checking
for proper polarity.

Bon®t apply power to your kit withoat carefully oheckismg your

BESSTOR COMORTAN

COLOR DIGIT  WULTIPLIER Tok.

Flest Digit dlack -] X -
Secand Digit Brown i 1o -
Raleiplias Rl Fl oo -
Folaramey orangs 1 Lo =
Tallow 4 10,000 =
Gtass 3 200, D00 =
Bluw & 1, 000, SO0 -
Violet 7 14, 350, 000 -
Gray L] 150, 000, 000 -
LT ] ] 1,004, 000, 000 -
Silver - .01 1%
geld - g.1 e
DNODES TR AWSTETORE
—m
:Em" {1 aiﬂr- £ EL 7]
cellectar Collector
M ! : |_
B Base
Folarity Idefeificatien Enitter Esittar
+ Epeasy FilF Typa HPH Typa

-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
L]
-
-

' Lesd Connagtigns

ARODE CATHODE

m
€

o




LAY SLHvd

I WiwoLdnd

d

e T N e |

T REEE R ELE WIS LA

JUULET

]l

§ memong 0 e a® jeanl weeap
S SRS e BRI g

Sy g o eand jasna) oo pEn

P ASOR i sl S5E fhbepy




LAY SLHWD S155YHD 40 400 aMY TINVG LNOYd

awoa Z TYINOLI 4
17

L
a0 2fsf aum
LEANS o8
R [T LLFL L]
Td B9 INLELND TEE 40 miraaom
¥k BaAE 38

L]

TNV DL #HIANASEM BEOJIE

BIVIENE BNILNNOW WOWd ] ..._

EIG OL Ldvep 1RE LA3 L
yIapme =0 S3wdR SEIM SO150R0




DT H]
ATelds HA MO ONY ININVIIS

£ IYIHOLITd

128 agl us Hupgiom SWINEIE SidjEg 7 puE [0
&= aliwgasip puw s3eidedat syl @oaj PA0d suyg any Basway

“IEp Aq prnogs

FlEIERig £A paw 25 "Us famed oy uang -apreadanad
FEMAY Yl o] PEOD Aul] A BEnjg C spagros sadoad
ANy Uy AEgeg ey Sae(g " _.".H.:__..:n_._ &) Bujapm sEgpy

WOLLOE FHEVHY

- paniogd

SO B B R

ADLT T

FADVITOA

LLE-ER TR




WAy B EET wi
Aawa)] suang g

i e —

HALATTAWY IVHIL ONY AH0OMLAN Id gunives 840 Tdvesg
F IVIROLIIA

AONVIEasI0 Py pres sung
TEden Tl TvIEOL 904
B DRIAN0 M 48043

REywIIpa) aw asw salepoa
TEM = o demod F—.ﬁh_\
FA 1308 OFE| [§00 aw
B o andane asgy A
=71 #9ed oy o0 ._...._:_1“‘
ancd JISYIIA VIR IOER]Lg

puaw 04 oy Bupod szojag

= d

T§ AT oy Adgea
Hujags SASEGED AW go dai kog




rr,..,._.._ﬁ.L
L OHIHI M TINY O L0
T g TVIROLIIA
o5 BT0M X, 310M
b
3 1___.- '
" ol X
" -
A
LLIL g L
a0 u-_._ = ...m
i Y
L .H_ ; -
EJ L1
HEE 3 A
L3 - X
I E o 3
" L]
sr
w o
LTI £ o _— +
vhe| R F b
L i i
_ e
- LT

‘gmoys v mzaow upanem

S|EIAEL O3 -1 M5 W0LJ JUQE] ¥ 1Fewus] - F
ToTMS 00 - [ EPAI] Allm B §IMUNDT 7]

TpE (EIA0I0 Wi sdags Bupmappog syy op ouy




DNIHI® A0VLE HOLY TTID80 ONY TYLELED

B V]

THOLITd

00 Bialep 00 T W I THEAL 1A 3
CpElEples aaw

papiar Jof edupape snak grxagn "1

LW g
sxaoE GISE [wiedid adea ap 1assu]
SO IEUDS R S3d]M [fU sane ag
W sy o Sujape syy sagepduos w19L

s elmpags ganes suwd
usiy sof § (waid|d o) ey

MO LLOE BIREVHD

15



PREPARING AND WINGING PI-HETWORK COIL

In preparing the coil form it wilil be necessary to drill a few
small 1/16* Dia. holes: These holes should be drilied slowly
and carefully in the smooth portions of the form.

Cokls must be woumd neatly with egqually spaced turns = avold
winding turns on the top of sach other and getting any *ewists™
or kinks in the wire. The coll form is “grooved® to facilivate
ease of winding.

Ba sure to sorape off the snameled insulation on wire ends before
soldering.

Rafer to diagras Below;

l. DBrill & hol# near the bottom of the coll form adjacent
o pin 4

i. Drill a hole adjacent to pin 1 buk 7/0° above the
first hole.

3. Drill a hole adjacent to pin 8 but 3/8° abowe the second
hola.

4. BGoldar one end of the scraped enameled wire to pin 4 and
wound clockwiss 20 turne ae shown., Cut wipe leng ensagh
to go through Pin 2. Do not solder.

%, With the ressinder ¢f the enamaled wize, push theough pin
i and selder the I wiredts pin Z, Wound LI turms in the
same direction as the firet coil, Solder the end to pin B,

11



1.

TRANSMITTER TUNING PROCEDURE

Let the transmicter warm up for 30 seconds.

Band switch to B0 meter pamition, cusrent switeh in the
up position. “Tume® and “Load” contgel indicators point-
ing up. The Variables are now half ofen.

It is important that the crystals are in the right
sockets. The 40 meter crystal is near the rear apran.,
The cransmitter will not gperate when the crystals are
roversed,

Connect a I5W light bulb vo the amtenna jack.

Flug the telegraph key into the transmitter and
momentarily key the tranamitter. The Llight bulk will
glew,

Hold the telegraph key down and adjust the “Tune® control
for a dip on the panal mater.

Mjust the “Losd” control wo read 0.0 on the meter,
Readjust the "Tuns” contrel for a dip.

Resdjuse the "Losd® control to resd 0.8 on the meter.
At this point the light bulb should bw fully Lle,

The curcent switch can t  switched to “Scresn” position.
This will indicate how well the transmitrer ia matchad
to the antenna. With the light Bulb as a load. the
mater will read approximately 0.6. LEAVE THE SWITCH IN
THIE POSITION DURING TRANSHISSION. 2

The sams proceduras ace used to tune the 40 meter band.

Each timg tha bank switoch is changed, the transnitter
sust be retufned.

12



‘InduTt 9 y - TAA
IDYA LTT PUBR ‘POSOTD A9y I9I3TWSUBRIY} UYitm punoxb

STSSPUD WOIJ painseaw m\oomﬂ 3ae sabejToa TIY vZA92 bl Tﬂ\nut

£A
323208 TIoo jndany A eA 1aA/Nue
193008 Te3sAId 1A » ¢ 2 N33ue N9
pueq I933w g QY3 U0 uMoys I8 _ o NMONE ¥
puncab stsseyo sojousd = ~
PRTITOo8ds 85TMIBYUR0 SsoTun JJW UT SIr sIojlToeded IV mu_l T 1
B N ALl
SBSTMIDYIC sSaITUN MZ/T ‘Suyo UT I SIO]SISSIT IV ASEE) o .41
_— . 19 1
_ +_ —A eMS
q a3y 14
e S 0l =xove
+] #i9 9 HAIA
€19 AAA o——AU r
L 4
/ ImS \ n% IA %n
cw| —0 / T — _
.._. M 1344 wLX wiX
IS p—— ¥ 100" ¥ o3 ..___ _._‘,
. .
g |A® vz 2 | A Yo’
Niv \
gy €2 v
z . R}
5 =
. _ o
i
2 944 $A
AOS?2

CO-CSI #H1I1M AWVHOVIA JILVWIHOS

13



K4XL's BAMA

This manual is provided FREE OF CHARGE from
the “BoatAnchor Manual Archive” as a service to
the Boatanchor community.

It was uploaded by someone who wanted to help
you repair and maintain your equipment.

If you paid anyone other than BAMA for this manual,
you paid someone who is making a profit from the
free labor of others without asking their permission.

You may pass on copies of this manual to anyone
who needs it. But do it without charge.

Thousands of files are available without charge
from BAMA. Visit us at hitp://bama.sbc.edu



